No. 1

bSwY - J4—)LFTEE - REF - SofkE BHLET)
bet BASE a—F [60] gitiay  PSERABREAFELBES a—F 17636905 ¥k HE RAMS
ESCARTE TRBRFRERE LA B BE & i ThBE ka5 a— K 083100 e HiE =
=F) s Vtz?ﬁ K| JE ;\B BHE 4 Bl FRkaN E\B BHE 4 Eilz ek E\B e Eilz ek P e TR Fiks
10/29| B F EY3 EE LSS 21873 2|88 BB 4|REX 2181 || 3[ERNBE 3 |mEX 2000 |4 B 2|mEX 227525
200m || R 0.0m RI% 0.0m Ik 0.0m HiR 0. 0m
5@ mA  3[REX 22869 [[6|mE BEK 2 ,mff"jt 22789 [[7]|A/F Bl I[AEEX 237006 [8]8A = 2[HmEX 23791
_ _ B¢ 0. Om B3 -0. 7m _ =i -0. 7m K —0.7m_|
10/29| B F REG THERR®Z 2[REBX 517033 | 2|=H %l 3 |Lamite 527028 [[3|H% A— 1|FE—& 52¥)80 [[4|EE ZEth 2[HFPRS 52%186
400m o &5 R I FE
HEEEE - EIEESS 527095 [ 6[/E B3E 2[(tH—% h3F00 [ 7|RANER 1 |LEHES 53705 [8[#8 EE I3|RKBX 53710
_ _ R — Z L Y 2k
10/29| BB +¥ REG EAE] B 2|\FHRS 270047031 (| 2 [1EE BEE 3 ,m‘f"jt 253047095 3 [ith = 1 |/\TRa 2707#13 4 |8 BK 3 |R\BX 25308733
800m FIE I FE p34
5% #EE J|FEKX 27709FM13[16 [RE KiE 1 %”“‘ 253097066 | 7 |45 EA 1[N\ FRE 2912%062(| 8 |EE A 2| T4RA 253195091
_ _ _ Z ZI __ Ix Ik _
10/29| 8% R T8RE HmA 1[EKh 553008066 || 2 |ILA W%  4|257 F532X| 650345063 || 3 |k BEE 6257 k530X | 604 1#040| |2l B  b|057 F5a0X|  Z2iE
1500m
| |ZEE R 4|v57 rsavx|  EiE BHRGi2r  4|p57 psavx| EiE
T0/29|BF R TR BE 3|/\TRIEES | 15516830 2|[KH B 2|/\NTRIEES | 15520077 3[R F  2|/NTRIEES | 1652205/ 4 |ESF BA 3| ek 155287569
5000m F3E FE T )1l
5|(FH 1 |EEX 1553347046) 6 [KE &k 2 [/\FRIES | 1569236797| 7 [REE B} 2[{EBX 15933980421 8 | KIE  fH#E 2 [fREEX 155345520
_ — LIl — Ix — I= — i -
10/29| B+ REs +1.6mf T|ER Fik 1[|HREX 158040 (12|18 ZFH 1 |TZ—7 17553 || 3 |[FL EE 1 |mRrzu—rs57| 189022 | 4|BE xiE 2| FE—8 187043
110mH | R R FI T
5|K FKX 1 E_* 195079 wnER =t 1 /\g’t%‘ ZiE
o — — _ I — — — — —
10/29| =B F R Bl e | iﬁﬁ/ L3 E33 Il 1AE 3 [iIRJIERESR E3H3 SH Bk 3IRIEESR E3 g #A  S[IFIIERFH =iz
110mH R R R 2
BE BN 1 i;ﬁ;i R H ZiE
R
10/29|BF R A" B&F  1|nEX 57530 NE MR 2[A&EX E353 B &= 3|mmk E3
400mH & __ R R
10/29|BF R mE BX 2 B = 2
4 x 100mR 1|24tk 3[HEBXA 42832 |[2|ET E£K 1 |FEEXB 445038 | 3 RRREEA 465018 |4 285 465080
ErRARREt  3|&kE A FIE 3|k FE 34
HE S ) WA HAX 1
5 BB —5 487,03 [ 6 TR KHEB | 498020 |7 W/ R A 5033 18 aHg 50%095
B33 FIE /3 374
10/29| B F R
4 x 400mR i,ﬁ:% 8 LBRROIHPIL| ;ﬁ'ﬁj( 8 LBRROIHPIL| ;ﬁﬁj( 8 LBRROI P ;ﬁﬁx 8 LBRRO BB
R & 5 5374
ljﬁﬁj{ R8RELBRROLHBL
R
10/29|BF REE EZEEEERIEEEES 6m29 [[2| K@i A 3 |LEMAES 6m06  [S[EN BK I[AEX 6moT 1EHEF BN 1 |RERFAS 5m85
ENE Bk | RIB +2.0m I +1.0m I +0.1m Fik +0. 6m
5|1F8 B 2|®EEX4FAS 5m78 6|FER shE 1 |LE#ts 5mb4 1#%E =K 2|2E=m 5m49 8[EM FE 1|IFNZEmRFSE 5m44
Rk +1.8m Rk +0. 6m Rk +1.8m Rk +1. 8m




No. 2

bSvD - TJ4—)LFER - R - SO (813 T)
R a—F [e0] ey BSERBERFAYELEES - f 17636905 | s BE @A
ER(RilES TIREEFE KRR %3 k] BE &~ BT E L H IS a— R 083100 RLER AT Hif =
air] e ||| ] s RN RN s | s |1 sk T
10/29| B+ RS % 23 ;gm SIREX 8% LEXROLDEL #11 £ 2 imEEXR R LERBORDEL 54 X BREX R LERBORDEL ‘% B OBZ S[RBEXR R LERBOLDDL]
ZERB || Ik Tk T3 FIE
kg %= 2 iREgEX 8% LERROLDEL Tk Wt A PN R LERBORDEL TR B BREKX R LERBORDEL NE Ef 2 i REEX R LERBOLDDL|
_ _ P2 _ R N I _ — |
10/29| 5 R TR B2 4|nEk 1m90 2[/hERHEZ T|FREXR 1m75 3 |EMEKRER RERFRAS 1m4b F|HE a1 |REAFAE 1mdb
E= Bk | R FE FI FI
5|85 &FE 2| IFNZERFES 1m4b
— _ — R — _ e
10/29| 25 F R TR BRaF 2 |=sEs 6m31 EE MHEE 2[5HT E33 JIIE ERE IPISERTH| FHE
BA i 1 — lmm _ lmm
10/0|[@RET R Tleeros vomr 2|BEB on/d |2[2x & 1|2&m O HEEEE RS md7 |[4[EE A 4| REEe Om35
Fanix R RIF FE T,
=T S %L—% m76 6[XKIL BEK 2 %L;;Ej(*ﬂ% m38 T|E= #9 E%;ﬁ_rél_ m18 8l BKX 1 %ﬁ:% 6m77
10/29|— B+ R TR & 2meX Tom3d | 2[RK&Fx OB S |meEk 13m27 |3 |FH W uu.-’ijt 1m80 [[4|&1L X% 1 uu.‘Fxﬁ 11md4
ik || =i e R, R,
5|@HF B’K 3 %X 10m50 aHF R— 2 %X E3i3 BRA  #h3R i;;-’ij( E33
10/29|— i B F R F ¥ R ER 1REBEX 6 LERROLDEL BE BA J|iARK R LERBOL DS BR T8 P s PN R LERBO DL g g AR PN R LERBOL DB
()23 FIE FIE = BE
aFH x— bR PN R LBRROLP L HEAREE AN 3 ;}ﬁ‘ﬁj( R LBRROL L *F DE Pt s PN R LERROL L]
— _— — 12 , 825 —— 322
10/29|— & B F R e #®E  1[REX 53m87 [[2|BAX EHEE 1[REX 53md6  (|3[;FR =KX AR 50m97 |4 % 2 uu.‘Fzﬁ 49m92
Y | R FE T T
5[ EAN 3[REX 4im72 |6|=tE B 2 |REX 44md8 [ 7 [/htk =AY RAEKR 38md1 || 8 [HEHMEA 3 |RWEX 38m70
FI FI TE =S
OB[EEET | B BREET 3|5, AB [
NyX—H R
10/29|%&F R Tl Yo 2[8FEXRFAS | 12881 | 2(ILE F¥ 2[REXRFAS | 128086 [[3 £ ZH Timisdts 13843 [4|Fm Z&E 1|LXiEHtS 137065
100m B2 +0. 2m B3] +0. 2m B3] +0. 6m Rk +0. 1m
blREM&R 2(THE—5 135766 (|5 |FM &k 1|/\FRS 13%066 | 7 |EFFHETFEA TE—S 13873 ||8|FE w& 2|/\FRS 13879
B2 +0. 6m FE +0. 1m I +0. 1m FTE +0. 6m
10/29|%&F R TIhE RER  2[FEXRFAS | 59824 (2|#UnEd 3|LiEHIdE | 12008502(3|RW A ARNERFS [ 12703886( 4 |F8 EF 1 [EEXFAS | 15704758
400m B3 B3 21 ZH
EE 2 %L‘Tﬁmﬁ_m 150047069 6 [EFFHFEH 2 Tﬁ_% 177058022 7 (B0 #E= §;;_‘_ 195067013 8 [#5K & 1|[/\FHS 153085208
x id i3 Ix
10/29|%F R 1|miE FE8& 1|\ FRS 27298015 2 |1BMBER  1(2ES 27315034 (1 3 |BHiE A ARNERFS | 2334%008( 4|90 €W 2| 4R 253345049
800m FE B3 B3] &
5RO <CH 2 ii;:,% 257428003(16 [£EBF == 2 ﬁ;ﬁﬂjtm 2502808317 |SHE R ﬁﬁ;ﬁqzﬂn 25048F062( 8 BRI EHEX 2 ﬁgﬁj@tﬂm 257487063
x x X
10/29|%&F R TER KT 2|/\FRRES (10341881 2 [/ME = 2 [\FRIES | 119147004 3 [ILX HE o = 1153347061 4 |J2 tiE 2|HPRE 1153385076
3000m FE FE Rk FE
S5[N\ERTER 1 %i”%mﬁ_m 11954870 [Ak EX 3|\ FRLRES E353
P/ FE
10/29|RZEXF R T RAEAHAPE 2| TRF 178093 [|2|X® ZF 1| TR+ 18877 [|3|&8 MR W/ A 19%036 [[4|iEE< dp 1|8/ AR 20703
100mH RI% +0. 6m RI% +0. 6m R +0. 6m Rk +0. 6m
5T & 1|8/ A 20§19 (|6 [#EAFT«7 1|8/ AH 208053 || 7| FILFEEE TR 21762 [[8|AB FIMA 1|H/ A 227054
R +0. 6m B2 +0. 9m B3 +0. 9m Rk +0. 9m




No. 3

bSvY - J4—)L FHER - R - SRR BHLET)
bet BASE a—F [60] gitiay  PSERABREAFELBES a—F 17636905 ¥k HE RAMS
B siles FOBREF KPR R ks R BE oy BT IE E RS a—F 083100 AR AT HE =
A A fEH VIZZ;\ | JEE 1@ WA 4 e EEES {ITIB TR E R B ALk {ITIB TR E Y P ALk Fii BHE 4 P E kS
10729 ER& T R T[ALERE 1 |REATAR | 16833 |2|%E BR 2| Lmmis | /85 |3|eL L& 1| ME—&\ 7586 |[4|[RE *B 2|RiAFXm | 18800
100mH B2 +2.1m B2 +2.1m Rk +2.1m P2 +2.1m
S5|&iM EF 1285 197008 [[6 (&%) #&X 1|#HPRF 198091 [[7]BERE HEEE] 207001
_ _ I +2.1m TE +2.3m _ Z +2. 3m
10/29| % ¥ R =% M 2 =l &2 2
4 x 100mR 1|R& AR 2[IFIERFE | 54805 (2 et 56597 [ 3(E=HE E |rxHEZE 577048 [ 4 ./ R C 575156
RE $E 2|%H BRIk Gl == N P37 B35
2N EH 2 FH _#  1
5 A 153005042 6 W/ AHED | 1501F009( 7 W/ AHRA | 157015098
b e T
10/29|%F R
4 x 400mR SIFNERFES |ensoexpornes ST ERFE hB | eosLwxnornes i,ﬁ:%A RS LERROLOEIE ST IERTFE A | essLexnorss
TH-EB 5 LEXRROLHPL]
10/29|%F R TBA BHZx | |Lamte nds (2|5t == 1|Z&m md0  3[REAHPE 2| FET 0 [4|BH &% 1| \Thm\ Tm40
EEB B3 B3 T TE
S5[%m #E 1|XE#lts 1m40 6|=% g 2[IFIEERFE 1m30 T2l #2 2|x@E=8 1m25 8 [pTER /ME TiH=Ts 1m20
_ ~ s 8 i s
]0/29 ¥ R INE 5?27’_" 1 Uﬁﬁj{ R LERRO:HbLE
BBk T
10/29| 2% F RE TERX £ 2[5H#% Tm04 2[4 HEzx 1[FRS 6m26 [|3|FA ®EE 2| FRFP 5m38  [4|®@HE = TRA 4m82
AR RIF R B34 Tk
blhiE fax 1[5HP 4m80 6|XHE = 1|TiRH 4m01 UEERE 3mb0
FI T
10/29| &R & F RE E3EE S BEriEe Tl 2% 8B 2 |[REXFAS md8 (3| tE' 1|BE7E-—S 8mb2 |4 |BHERE 2855 8m04
AR &I R B34 Tk
HEEEE T I G ] m15
T
10/29| — M X F RE T[#n #F 2R 10mi8 [ 2[KUE #E3%E 3 [AEX 10m07
AL FIE B3
10/29|—fi& & F R et I 18 1REBEX B LBRROL L H FBE 1REX 11 LBRROLbL]
A 8E1% FI IE
10/29| SR & F Y SB &4 1|1Eride R LBRROLP L hff EAH AL =] 11 LBRROL L iRiB AE AL =] R LEXRO: 0L
Noe—% I I B3
]0/29 —ﬁﬁt? ;‘*nﬁ ﬂg% E-}Jﬁ 1 Iﬁﬁj{ % LBRBOL BB [Fafzz] Eﬁ 2 ,ﬁﬁj{ i LBRRO: L] ﬁ% Eﬁm 1 ;ﬁﬁéx 2t LBRRO: L] I]\ﬁE’ E% ;ﬁﬁx 2127 LERROL 0PI
Nov—% A FI Z50 LN




